Intermediate Algebra - 2.1-2.4 - Equations and Word Problems August 24, 2015

Chapter 1 Homework
1.1 #1-137 odd

1.2 #97-113 odd

1.3 #30-57 odd; 97-105 odd; and study properties!

1.4 #1-31 odd Tu esday
Chapter 2 Homework

2.1 #39-77 odd

2.2 #7-27 odd

2.3 #7-25 odd

2.4 #5,7,11,17,19,23,27

2.5 #35-71 odd

2.6 #33-69 odd

ch 1 due

2.1 Equations in One Variable

e An equation that is true for only some instances of the variable

is called a conditional equation. ZX—3 :5

e An equation that is never true for any instances of the variable is %

called a contradiction. Z)(—5 :2)( +5 > —-3:5

e An equation that is always true for any instance of the variable is

called an identity. 2)(—-3 = 5x _37(-[-4 .7— >-2=-3

® One way to simplify an equation involving fractions is to get rid

of the fractions by: multiplying both sides by the least common S
denominator. ‘—)Q"-\—'_é- (p (Li?(”lj) = 6 (t)
. < e
e The solution set to a contradictory equation is the empty set. 3)( _ 2 -
e The solution set to an identity is all real numbers.
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40. 74+8y—-12=3y -8+ 5y
BY=3y -3y = "8-F (2
O _-_,.?) QO(W;CJ'HJ)

.§x—gx—3:%x—5 ‘
o(3a-T4-3) =6(£1-5)
IK=-5x -1 = 3x-30
-13+30 =3x~4rx+5).<\o‘wg
12 = 4% C e,q\,‘i(‘\”"\“’r\

=)

( o bo. = -1 %
7’2/.—':-151 o b

9§.4(x—5)—(x+1)ﬁ_7>.5

4(&-5)-(x+b = 3x-2|
4x-20-x~| =3 x-]
AX-x=3x =72 20 7 |

Q2 idehby
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2.2-2.4 - Linear Equation Word Problems

2.2 - Coin, Stamp, and Integer Problems

4. A collection of 22 coins has a value of $4.45. The collection

contains dimes and quarters. Find the number of quarters in the

collection.

Type of coin

# of coins

Value per coin

Total value

Dimes

22 =X

0.l

(2-)(0)

Quarters

Vot

0.29

x (0.29)

(u~x)(o.b +x(o.z<5) ~ 4 t5
22 -0.IXx+025x = T-15
loo: O.19x =2.23 - 100

ISx =229
X =225
VS

- \5 %W"'@f&

14. A stamp collection consists of 3¢, 12¢, and 15¢ stamps. The
number of 3¢ stamps is five times the number of 12¢ stamps. The
number of 15¢ stamps is four less than the number of 12¢ stamps.

The total value of the stamps in the collection is $3.18. Find the

number of 15¢ stamps in the collection.

—_—

Type of stamp | # of stamps Value per stamp | Total value
3¢

5Sx 0.03 |Dx (o.o\;)
e A 0.12 | x(0.12)
15¢

x-4

0.15

(x-4)0|1®)

5x (0.03) + X.(o,\?) +(x-4)(0.19) =3-1¥

0.19x+ 0.12x + 0. |5 — 0.6 =3.18
0.42x =2 #8

At = 91

425 =378
X =9

‘41&
3

-\ 19¢ skmfbs
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X
20. Cﬁ%’ﬁtte?g:a is four more than aﬁ&é’ﬁe}er. The sum of the

integers is twenty-six. Find the integers.

X+ (x+4) =20
2x =22
X =1\

>
22.The sum of}teree numbers is forty-two. The s’ebtfﬁ‘d%thber is
twice the firstiumber, and the third number is three less than the
SN~
second number. Find the three numbers, 2% =

x+ (2x) +(Zx——37 =42
K =49
X =

August 24, 2015
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28. Find three consecutive even integers such that four times the
sum of the first and third integers is twenty less than six times the

middle integer. x , x+2 , )\_1_ 4_

4( % +6rg) = (e(x2) ~20
4 (2ax+9) = x+1220
IR+, =bx —§
Irn=RA
=2

21. Translate into a variable expression. Do not simplify.
“the difference between a number and the total of twelve and the square of the number”

Z BN J‘
x— 24+ X ) C»: |¥n1’-wce
22. Simplify: 4x — 2[x & 4(y — 2[5y + 31)] W;:,abb is

4x-2[%- (371 -6) |

J _
-2 [ x +3Bloy -+ _ _ _
‘,x_zgﬁébﬂ_%l 3 2x—F2y - 4%
23. Solve for x 5(x—7)+5=6x+ .

AT +157=18x + 12 AN J-\),\OMQ

co

§-12 = 18X X ey,
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2.3 Value Mixture and Motion Problems

4. A coffee merchant combines coffee costing $5.50 per pound with

coffee costing $3.00 per pound. How many pounds of each should
be used to make 40 pounds of a blend costing $4.00 per pound?

Type of coffee | Weight Cost per pound |Total cost
»530 Pl 5.5 55 X
00 40-% | 3 |3(40-%
$4.00 blend 40 4_. 4(4_0>

S5Sx+3(40-X) = 4(40)

5.5x+ 120-3x = 160
2.5 X, =40
WK =460
x=10 -1k

lb Lb of $550

coffee X

Q4 loof &3

coffer

10. A silversmith combined pure silver that costs $5.20 an ounce

with 50 ounces of a silver alloy that costs $2.80 an ounce. How

many ounces of the pure silver were used to make an alloy of silver

that costs $4.40 an ounce?

Type of metal | Weight Cost per ounce |Total cost

Pure silver A 5.2 | 5.ax
$2.80 alloy 50 2 .% 50 (2. %)
moder | 504x | 4.4 [1.4(50+

NS

5.2x+50@2-8 =4 4(50 +>:>
92X+ 140 = 220 +44x
S5.2X~4 Ap = 220 =10

0.8 X =30
BA=30D

X (100 oz of po= 0le’)
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18. Two jet skiers leave the same dock at the same time and travel r &tea X _{: ‘.m e) =

in opposite directions. One skier is traveling 14 mph slower than the

other skier. In half an hour the skiers are 48 miles apart. Find the .
. P distance
rate of the slower skier. .
PPN WAL
Skier Rate I ™ [Time Distance

Slower /Q ‘/2. x . -—Ii_
Faster x+14_ j/z_ (x *ﬂv) .—L

2-[)&-3'*+()«+ ‘ﬂ'l{_];ﬁgz'l
X+x+14 =9
X =¥2

26. A plane leaves an airport at 3 p.m. At 4 p.m. another plane

_j
1 t
)&

leaves the same airport traveling in the same direction at a speed r :
150 mph faster than that of the first plane. Four hours after the first
plane takes off, the second plane is 250 mi ahead of the first plane.
How far did the second plane travel?

Plane Rate Time Distance
-2
1 <25 4 X250 =9
K _nilsd
? 3 F ¥ 3 X C

3
4% = 3(x-250) + 12150

A4Xx=3x =750 + 1300
x -—

A -
\2 ("“ KA’Z-SO_,_bO A2

August 24, 2015



Intermediate Algebra - 2.1-2.4 - Equations and Word Problems August 24, 2015

2.4 Problems Involving Percent

Important formulas:

principal X interest rate = interest earned

(original investment $) (% written as decimal) %)

amt of solution X % concentration = amt of substance

(volume of water mixed (portion of solution (volume of just

with dissolved substance) that is the dissolved dissolved substance)
substance)

6. Two investments earn an annual income of $465. One investment is
a 5.5% tax-free annual simple interest account, and the other is a 4.5%
annual simple interest certificate of deposit. The total amount invested is
$9600. How much is invested in each account?

% pr}nc)‘oal %‘{,ﬂw{— I“*m

& (_o«-ig.iW\ .
852 < 6.055 | 0.055 x

452 [100-X |0.0¢9 0.045 (00-X)

SOSO..OSSX +O. O‘rSC‘i(ooo «)0) Q@—T‘f))d.?oo‘o

55x +45 (ﬂbo()——x} <~ 465006
Dr + 45(1600) ~ 45X = 4165090
10X = 445000 ~432000

|OX_=33000
X A3300 i 552 acct
£6300 inF-2 % aect
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